1RBIFR

REC2 % &l AkE MR

- BBELEORIIRHSRERTINIE CCD Gamera
© RARHASER TURLEONAAE V¥ llluminated angle diagram
- RRARERREREERTREE Lens

- UJERENHREERE
- IDSREIAE S - BIMERS®D Object

lllumination structure

- IBRENEBREENRRE 2R f, %

REC2 — 74 X 30-_R- WD

| [ [ e

REICZ 3 I8 6 X3 I0 D[ I? WI

([ ] 000

REC2-41X16 24V 0000 1 1.5 53 20 19 1
REC2-80X16 24V 0000 2 2.5 92 20 19 2
REC2-119X16 24V 0000 3 4 131 20 19 3
REC2-158X16 24V ( X X JO) 4 6 170 20 19 4
REC2-197X16 24V [ X X XO) 5 6.5 209 20 19 5
REC2-74X30 24V [ X X XO) 3.5 5 86 34 19 6
REC2-98X30 24V 0000 4.8 6 110 34 19 7
REC2-146X30 24V ( X X J©) 7.2 10 158 34 19 8
REC2-170X30 24V 0000 8.4 " 182 34 19 9
REC2-194X30 24V [ X X XO) 985 12 206 34 19 10
REC2-218X30 24V 0000 10.7 15 230 34 19 "
REC2-266X30 24V 0000 13 17 278 34 19 12
REC2-290X30 24V [ X X XO) 14.2 18 302 34 19 13
REC2-386X30 24V [ X X XO) 19.2 24 398 34 19 14
REC2-434X30 24V 0000 21.5 30 446 34 19 15
REC2-578X30 24V 0000 28.8 36 590 34 19 16

www. bestintech.com.tw



(mm)

Hex Nut M3 Groove

290(Emitting surface)

(For Installation)

30(Emitting surface)

-3t

Hex Nut M3 Groove
{For Installation)

1 2
7 53 7
% 26 2 41(Emitting Surface) 19 ;f — 923 e
mitting Surface
Hex Nut M3 Groove Hex Nut M3 Groove 2
For installation " T
L | o ©) For Installation F e i o
b g 5 SiE ,
g |@ | ©
2M373 2M373 t@
g Same In The Opposite Same In The Opposite
For Installation For Installation
REC2-41X16 ! REC2-80X16
3 4
B
19 £ 131 170
5
Hex Nut M3 Groove 9 126 % : Surface) Hex Nut M3 Groove ‘ | Surface) ‘ ‘
For Installation S For Installation
=T Jo) ©
S
g P ©
2-M3 73
Same In The Opposite
For Installation Same In The Opposite
or Installation
REC2-119X16 REC2-158X16
5 . 6 19 86
£ ‘ 9 26 ° 74(Emitting surface)
H 200 8
19 @ ‘ £
Hex Nut M3 Groove 3 197(Emitting Surface) L 5
- = Hex Nut M3 Groove ol
For Installation E 5 {For Instalation) \ £
2l o 3§
:@ 8
Same In The Opposite _4-M3depth4
For Installation
REC2-197X16 REC2-74X30
7 19 110 8 19 158
B 98(Emitting surface) ‘ 9. ‘ 26 3 146(Emitting surface)
£ ‘ ‘ £
5 s
o Hex Nut M3 Groove S
(HF%xr mgﬂ;gmove 2N © (For Installation) | [ ©
3| E 3| E
°la g
8 21 @ €
4-M3 depth 4 @3& 4-M3 depth 4
(For Installation) \ S (For Installation) S
S &S
o g
REC2-98X30 REC2-146X30
9 10
‘ 19 ‘ 182 19 206
| 9. | 26 3 170(Emitting surface) ‘ o ‘ . To4(Emiting surface)
£
5
s Groove TS B Hex Nut M3 Groove o A
4| E (For Installation)
°la 3
311 ©| S ®|
4-M3 depth 4 @Q 4-M3 depth 4 @A
(For Installation) ) (For Installation) \?
Q o
REC2-170X30 REC2-194X30
1" 12
19 N 230 7 278
‘ 9 ‘ 26 surface) 10 k]
2 266 (Emitting surface)
9 °
Hex Nut M3 Groove o A Hex Nut M3 Groove £
(For Installation) 3 (For Installation) . ST ¥ A
@ o I o
4-M3 depth 4 @:}Q S
(For Installation) ) 26 7| \\»S
g 4-M3 depth 4
REC2-218X30 REC2-266X30 (For Installation)
13 . 14

398

surface)

30(Efnitiing surface)

(For Installation)

REC2-434X30

N
26 S 267
4-M3 depth 4 4-M3 depth 4
(For Installation) (For Installation)
REC2-290X30 REC2-386X30
15 16 g
- £
2 446 H
£
19 a 434(Emittin g
—2 3 g surface) £ 590
9
Hex Nut M3 Groove (- é . i 578(Emitting surface)
(For STET P fi Hex Nut «J»—g]f 8
sl |l o M3 Groove - q
(For Installation) I I I
26 EuS
\J
4-M3 depth 4 \/ 2.6 %»?>

4-M3 depth 4

(For Installation)

REC2-578X30

www.bestintech.com.tw



